2. KEBEEOHR

£ E R0 | F 21 F | F 22 F B | F R 23E E | 245 E
X % EkE EkKE EkE EKE EKE
B K ;A IBRE KIS ERERKIS BREIKIS BRECKS B REEKS
B2 K #& H = |m/H 19,900 19,900 19,900 19,900 19,900
B2 K K &= K& KmEig X)imeE X)iimes KimeE
X =% W A B |A 38,759 38,332 37,911 37,361 37,086
B Lt #% K A 0O |A 38,335 37,954 37,548 37,013 36,745
B oK T kR E (% 98.9 99.0 99.0 99.1 99.1
TE1TANTEHIBKE (2 282 282 292 287 284
H X ¥’ &R 268 271 273 276 278
B K & & & [m 205,975 207,470 207,910 208,540 210,470
TEBTARKIEKE |2 348 315 385 365 330
B K K > F |& 5 5 5 5 5
EERREREH B 1 1 1 1 1
WwAKE B ADO A 52,300 52,300 52,300 52,300 52,300
B ETKER
3. EKEREAHER

g K i E KR | UNAKER |ARARFRE| 1 AN E | f&aKEH

FH FH FM % ®’

T o199 & E 804,772 725,643 79,129 90.2 14,215
T R 20 & FE 794,969 714,241 80,728 89.8 14,279
T B 21 F OE 786,743 707,873 78,870 90.0 14,266
T R 2 & F 782,656 702,617 80,039 89.8 14,246
T m 23 & E 778,645 693,168 85,477 89.0 14,239
T R 24 & FE 757,067 673,125 83,942 88.9 14,268

& ETkER



